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= X 4 = | T LD ADKRES R 4 TIHALDKE| HE ADKRES R 4 B2 | LtimhoDtkE ADKRES X 4 Limmhonts | & ADKRES
(m) (m) (kN/m) 2B A (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
’ 100kN/mM%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -| 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st -l -~ = - £h Lot -~ = = = Zhn st = -~ = -| ZhLis = it = - -
9 100kN/mM#Z#BZ % 1.00[0.00 ~ 143 121.79(3mZ#BRS| - ~ = = -| 100kN/M%i#8 % % 1.00| 12.28 ~ 21.02 121.79|3m%H#BZ % o ~ = = =
Zh st 100|143 ~ 922 100.00| #hlist 000 ~ 922 212 11.11 ZHLS 1.00f 500 ~ 1228 100.00] Zh st | 500 ~ 21.02) 212 11.11
3 100kN/mM#Z#B% % 1.00/0.00 ~ 228 13551 |3mZE#BRSH| - ~ = = -] 100kN/ %82 % 1.00| 10.88 ~ 2265 135.51|3m%#BZ% o ~ = = =
Zh st 1.00| 2.28 ~ 10.07 100.00f Zhli4t [ 000 ~ 10.07| 2.24 11.77 TS 1.00f 500 ~ 10.88 100.00] Zh st | 500 ~ 2265 224 11.77
4 100kN/mM#Z#B% % 1.00[{0.00 ~ 232 136.16|3mZ#EZBH| - ~ = = -| 100kN/MZ#B 2% 1.00( 11.08 ~ 2477 136.16|3m%H#B 2% = ~ = = =
ZnLs 1.00]2.32 ~ 10.10 100.00f ZH1List 1 0.00 ~ 10.10| 2.21 11.61 st 1.00f 500 ~ 11.08 100.00| Zh st | 5.00 ~ 2477| 2.21 11.61
5 100kN/m%#BZ % 1.00/0.00 ~ 235 136.69|3m%E{B% % a ~ = = -| 100kN/mM%E#Z% 1.00] 10.74 ~ 22.30 136.69|3m%E %% = ~ = = =
ZnLs 1.00]2.35 ~ 10.14 100.00f ZH1List | 0.00 ~ 10.14] 2.27 11.92 Lot 1.00f 500 ~ 10.74 100.00] Zhdst | 5.00 ~ 2230 2.27 11.92
6 100kN/m%#BZ % 1.00/0.00 ~ 1.69 125.84|3m%E{B %% a ~ = = -| 100kN/mM%E#Z% 1.00| 10.58 ~ 16.32 125.84|3m%EHE %% = ~ = = =
ZnLs 1.00]1.69 ~ 947 100.00f ZhList |0.00 ~ 947| 224 11.73 st 1.00f 500 ~ 10.58 100.00] Zhdst | 5.00 ~ 16.32| 2.24 11.73
7 100kN/m#%#BZ % 1.00/ 0.00 ~ 0.65 109.63|3m%E{B %% a ~ = = -| 100kN/mM%E#Z% 1.00] 10.54 ~ 1237 109.63|3m%E %% = ~ = = =
ZnLs 1.00]0.65 ~ 843 100.00f Z1List | 000 ~ 8.43] 1.80 9.42 st 1.00f 500 ~ 10.54 100.00] Zh A4t | 5.00 ~ 1237| 1.80 9.42
8 100kN/m%#BZ % 1.00/0.00 ~ 0.13 101.89|3m%E{B %% a ~ = = -| 100kN/mM%E#Z% 1.00] 1197 ~ 1244 101.89|3m%EHE %% = ~ = = =
ZnLs 1.00{0.13 ~ 791 100.00] Zh A4t |0.00 ~ 791 1.97 10.31 st 1.00f 500 ~ 11.97 100.00f Zh st | 5.00 ~ 1244 1.97 10.31
9 100kN/m#%#BZ % 1.00(0.00 ~ 1.58 124.12|3m%#BZ % -~ = = —| 100kN/M%# x5 1.00{ 11.65 ~ 19.98 12412|3m%EHB %% -~ = = =
ZnLs 1.00] 1.58 ~ 9.36 100.00f ZhList | 000 ~ 9.36] 2.16 11.32 st 1.00f 500 ~ 11.65 100.00f zH it | 500 ~ 19.98| 2.16 11.32
10 100kN/mM%#BZ % 1.00{0.00 ~ 234 136.53|3Im%E XD al ~ - = —| 100kN/m%#8 2% 1.00| 10.63 ~ 21.38 136.53|3m%E#BZ2 5 =l ~ - - -
ZnLs 1.00] 2.34 ~ 10.13 100.00f ZH st 1 0.00 ~ 10.13] 2.30 12.07 st 1.00f 500 ~ 10.63 100.00f ZhList | 5.00 ~ 21.38] 2.30 12.07
11 100kN/mM%#BZ % 1.00{ 0.00 ~ 154 123.47|3m%EEZ D al ~ - = —| 100kN/m%#8 2% 1.00] 10.56 ~ 15.94 123.47|3m%E#BZ2 5 =l ~ - - -
ZnLs 1.00] 1.54 ~ 932 100.00f Zhist 1000 ~ 932 2.15 11.26 st 1.00f 500 ~ 10.56 100.00f #h it | 500 ~ 1594 2.15 11.26
12 100kN/mM%#BZ % 1.00{ 0.00 ~ 0.60 108.89|3m%E#EZ 5 al ~ - = —| 100kN/m%#8 2% 1.00] 1093 ~ 12.62 108.89|3m%E#B %2 5 =l ~ - - -
ZnLs 1.00{ 0.60 ~ 8.38 100.00] Zh A4t | 0.00 ~ 8.38] 1.89 9.92 st 1.00f 500 ~ 10.93 100.00] Zh x4t | 5.00 ~ 1262 1.89 9.92
13 100kN/m#%#BZ % -l -~ = —-|3mEEZD -~ = = —| 100kN/mM%#B 2% = -~ = —-|3mZEBZD ol ~ - - -
ZnLs 1.00{0.00 ~ 7.02 88.99| = List | 000 ~ 0.00| 1.69 8.88 ZznLst 1.00f 500 ~ 8385 88.99| #nLis | 500 ~ 885 1.69 8.88
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ IMEEZD ~
ZFh s ~ Zh s ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ ImEEZD ~
ZNLUS ~ ZThLS ~ ZHLS ~ T IO0)) ~
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